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8a. Match the child to the comect
number.

Marty has 2 tenths and 28 hundrediths.
Vic has 2 tenths and 18 hundrediths.

Keisha has 3 fenths and 28 hundredths.

48 58 38
A.m B.m a

9a. You have 7 tenths and 26 hundrediths
already. How many more tenths or

hundrediths do you need fo make one
whole?

Record your answer as a fraction.

& .




image1.png
2a. True or false?
The following sequences are correct.
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3a. Malch each image fo an equivalent
hundredth.
A 5 c
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2a. Match the child fo the correct
number.

Don has 20 hundredths and 7 hundrediths.
Mia has 2 tenths and 5 hundredths.

Ken has 20 hundrediths and 9 hundredths.

g .

3. You have 85 hundredths already. How
many more hundrediths do you need fo
make one whole?

Record your answer as a fraction.
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ba. True or false?
The following sequences are comrect.

A28 27 28 30

100 © 100 © 100 © 100

82 81 8 79
100 © 100 © 100 © 100

& 7 &
ﬁ 10 10 10

8a. Complete the
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5a. Match the child fo the correct
number.

Sasha has 3 fenths and 7 hundrediths.
Tom has 4 fenths and 13 hundredths.

Loftie has 6 fenths and 8 hundrediths.
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6a. You have 4 tenths and 3 hundredths
already. How many more fenths and

hundrediths do you need fo make one
whole?

Record your answer as a fraction.
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10a. True or false?
The following sequences are comrect.

A6 48 50 52
100 © 100 © 100 © 100

g 58 54 50 48

100 © 100 © 100 © 100

¢

11a. Record these hundredths as
equivalent fenth.

60 _ 50 _
A0 = 0 500 = 7o
g0 b, 10

100 T 10 00 T 10





